Uwunuupp

175ET028 SC

(1) MS 440, (2) MS 440-D, (3) MS 440-N, (4) MS 440-RZ Magnum, (5) MS 440-VWZ Magnum Arctic, (6) MS 440-W, (7) MS 440-Z, (8) MS 440-Z Magnum

Copyright ANDREAS STIHL AG & Co. KG 2020 (1) 19.02.2020



Uwunuupp

Ccbinika
Ne

1

10

11

12

13
14
15
16

17

18

19

20

21

22

23

Kop apTtukyna

1128 020 1227

1128 030 2015

1128 034 3000

1128 034 1501

9463 650 1200

1122 025 2200

1128 020 9400

1122 084 1405

1128 029 2301

1128 029 2302

9512 003 3061

9022 371 1050

9022 371 1020

1128 141 3201
1125 149 0601
1128 140 0600
1128 145 0803

1128 140 0607

1128 140 0604

1118 141 9006

1128 145 0804

1128 149 0500

9022 341 0980

9022 341 0910

K-BO

HaunMmeHoBaHue Bknwouyas

UnnnHgp c nopwHem, @ 2-6
50 MM

MopweHb, @ 50 MM 3-5

KomnpeccnoHHoe
nopLuiHeBoe KobLo, @
50 x 1,2 mm

MopwHeson naney, 12 x
8 x 35

Mpy>XnHHOEe cTornopHoe
Konbuo 12 x 1

Mpobka

[eKoMMpecCrMOoHHBbIN
KnanaH

3aWwmnTHOE NPUKpPbLITHE

YnnoTHeHve unanHapa
0,5 mm (1,2,4,5,6,7,8)

YrnaoTHEeHMe unamHapa
1 MM ManocxaTbin (3)

KoMnaekT nronb4aTtbixX
ponvkos 12 x 15 x 15

BUHT C
LUNNHOPUNYECKON
ronoBkon IS-M5 x 25

BUHT C
LUWANHAPUYECKON
ronoskon IS-M5 x 20

OxnaxkfatoLun ancT
YnnoTHeHWe raywmnTens
WymornywwnTens (1,3,6) 16

BepXHU MONYKOXYX

(1,3,6)
LWymornywwnTtens AUS, 19, 20
NZ (7)
LWymornywmTens USA, 19, 20

CDN (4,5,8)

PewéTka USA, CND,
AUS, NZ (4,5,7,8)

BepxHuii MONyKOXyX
USA, CND, AUS, NZ
(4,5,7,8)

YnnoTHeHne
(1,3,4,5,6,7,8)

BUHT C
LUWANHAPUYECKON
ronoskon IS-M5 x 16

BUHT C
LUWINHOPUYECKON
rosioBkon I1S-M5 x 6

no

162936785

TexHu4yeckas
uHpopmMmauus

30.2004

(1) MS 440, (2) MS 440-D, (3) MS 440-N, (4) MS 440-RZ Magnum, (5) MS 440-VWZ Magnum Arctic, (6) MS 440-W, (7) MS 440-Z, (8) MS 440-Z Magnum

Copyright ANDREAS STIHL AG & Co. KG 2020 (2)

19.02.2020



STIHL

Uwunuupp
Ccbinka Kon apTtukyna K-eo HaumeHoBaHMe Bknouyasn Oo TexHu4yeckas
Ne uHpopmMmauus
(1,3,4,5,6,7,8)
24 9022 341 1300 2 BuHT C
LUWANHAPUYECKON
ronoskon IS-M6 x 20
25 0000 148 6000 2 Ynpyras 3axuMHas
warnba (2)
26 1128 140 0610 1 LWymornywwuTens KaT. 27, 28
(2)
27 1128 145 0710 1 HXHUI nonykoxyx (2)
28 1128 145 8000 1 Mvne3a (2)
29 9022 341 1070 1 BuHT C
LUNINHOPUYECKON
ronoskon I1S-M5 x 30 (2)
30 9022 341 0910 1 BUHT C
LUWANHAPUYECKON
ronoskon IS-M5 x 6 (2)
31 1110 400 7005 1 CBeyva 3aXuraHms
Bosch WSR 6 F
32 0000 400 7000 1 Cseya 3axuraHna NGK
BPMR7A
1128 007 1050 1 Habop ynnoTHeHunn (B) 9,14

(1) MS 440, (2) MS 440-D, (3) MS 440-N, (4) MS 440-RZ Magnum, (5) MS 440-VWZ Magnum Arctic, (6) MS 440-W, (7) MS 440-Z, (8) MS 440-Z Magnum

Copyright ANDREAS STIHL AG & Co. KG 2020 (3)

19.02.2020


http://www.tcpdf.org

